FSHEELBERASBAZARESHES NXFPEEER)

BSH3E4A1B~ESM4E3A318

[ AR ] (EAL - FH)
A H | A FasEmE 54| S MmERE T 55 F il E:
EEREHSE 12,480, 000
O/ (BT LR A2 RH)
@30, 000 X 38% A=1, 140, 000
QOFEAFA (FTAFE R E I 2B M ~ 10/8H)
@60, 000 X 1397 A=8, 340, 000
OpN kL] éﬁﬁ%&%ﬁﬁﬂl]\@m%mﬁ)
A @100, 000 X 307% A =3, 000, 000
= R 14, 625 15,7501 A 1, 125 s oyt (B3 R R HMLEIEBIE) 251
B EH e E 5, 250, 000
@25, 000 X 210%# A=5, 250, 000
KIEREHSE S 3EEOHRGER
(@5, 000 X 2119% A =1, 055, 000)
B o & 3, 105 3,105 O |8 AT R B i AR B 15, 000 X 2071E A
BN 200 200 0|t @ fkys Al B e ot s X - — S g%
A NN 750 750 0| S5 F 4R Ak 3212 IR Il 2 3£ 750, 000
MO A 1 1 0| FE4FI B2
Mo 4 6, 451 4,678 1,773
& 3t 25,132 24, 484 648
[ HDER] (HEAL - FH)
B H [SREETRMAR TR ER W=
& B OB 900 900 Ok e - ERISESHE, %ES 6E) - 32 (50)
[fufﬁﬁﬁ%%%]
ERAEHESE 300,000
t&ﬁza&?&%iﬂﬁ@%% 600, 000 (37> X 4[al)
WHE (2[8]) 400, 000 - #E Wt < F— (2[E]) 300, 000
A E A4 (6 [B]) 300, 000
) PR HEFZE 100, 000
¥ & 4,100 4,470 A 370 R R8BS F—45 100, 000
KEEEA TR RHIEEFE 800, 000
[FREM A S 2]
KFEFHAS 600, 000
[ H3E]
JREESE 600, 000
A A ERE 2 #9, 375, 000
= it & 5, 250 5, 250 O Rttt &Rt 25, 000X 21075 A
FURISLAE 1,000, 000, @{EIEME 800,000, H P{R5F
O R 2, 050 2,010 40 ¥l 70,000, Ho@fRFRLE 50,000, AT@EEAR 130, 000
; B R A SRR TE AR E 2= 100, 000
o R 150 150 O| i Mo ¢ TR EARIE 2 50, 000
M % 267 219 A8 | IRIA TR - BB
S ¢ 3,000 2, 000 1, 000
& 7 25,132 24, 484 648




	R３予算

